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1. As the school Head Girl write an article in about- 150 words to highlight the
importance of Enrichment Activities by organizing dance, drama, debate and soliloquy
competitions on regular basis.

2. Write a factual description, not more than 100 words of a potted plant that you and
your sibling recently chose to gift your parents.

3. Write a letter to the Editor of a leading newspaper in not more than 120 words
highlighting the importance of reading popular fiction and non- fiction books to
promote an urge for reading.

4. As Vaishali Sharma, of 412, Kalam Apartment, Bharat Street, New Delhi, you
believe that forming Ecology Clubs and appointing Eco minders in your city can aid in
the preservation and conservation of nature.

Write a letter to the Editor of a newspaper in about 120 words, suggesting the head to
form such clubs. Share their importance and implications. Recommend the involvement
of resident the volunteers for implementation of eco-club activities that nurture and
protect the local ecosystem.

5. As Kripa Jha, the school Literary captain of Arjuna Academy, Vaishali City,
Bhawnathpur, you believe languages can help bridge regional divides and promote
unity. Write a letter to the Editor of a National daily, 22 in about 120 words, suggesting
the introduction of an online regional language learning programme managed and run
by student councils and language clubs in the city. The programme aims to help
residents who have recently relocated to a new region in picking up the local language .
Share the importance and credibility of such a programme and suggest a feasible way
to execute it along with possible activities.

6. You have been asked to present an evaluation of the approaches of the mothers of
both, the baby seagull and Amanda towards helping their children. Write this
presentation draft including your insights in about 120 words, comparing the
approaches of both the mothers.

7. You have been chosen to address a student gathering of the neighbourhood schools,
to speak on the resilience of human spirit required to transcend discrimination. Prepare
the speech draft in not more than 120 words, with reference the commonality of theme
“Nelson Mandela Long walk to Freedom and The Trees by Adrienne Rich”.

8. Imagine that M. Loisel rom Necklace by Guy de Maupassant, writes a diary entry
exploring the theme of class, social status and the nature of social mobility, in the
context of his experience. Write this diary entry,as M. Loisel in about 125 words.

9. A character arc is the transformation or development of a character throughout a
story and refers to changes, a the character undergoes as a result of their experiences,



challenges, and interactions with other characters. In light of the above information
trace the character arc of the thief in Ruskin Bond's ”The Thief's Story”, in about 120
words.

10.Describe the character of Bholi from the story ‘Bholi’.

11. The ideas of spirituality and equality are ingrained in animals. Explain with
reference to the poem ‘Animals’.

12. What question does the poem ‘Ananda’ raise ?

13. Do you think that Amanda is at fault?

14. As adults, one

Important thing to learn is how to manage our anger/ temper. Some of us tend to get
angry quickly, while others stay cool and calm. Can you think of three ill effects that
result from anger with reference to the play ‘The Proposal’.
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X(MATHEMATICS)

1. A tower stands vertically on the ground. From a point on the ground 100 m away from the foot of the tower, the
angle of elevation of the top of the tower is 45°. Find the height of the tower.

2. The height of a tower is 30 m. Calculate the length of its shadow made on the level ground when the sun's altitude
Is 60°.

3. The length of the shadow of a vertical tower made on the level ground is 40 m when sun's altitude is 45°. Find the
height of the tower.

4. The tops of two towers of height x and y, standing on level ground, subtend angles of 30° and 60° respectively at
the centre of the line joining their feet, then find x ..

5. The pilot of an aircraft flying horizontally at a speed of 1200 km/hr observes that the angle of depression of a
point on the ground changes from 30° to 45° in 15 seconds. Find the height at which the aircraft is flying.

6. A ladder of length 6 m makes an angle of 45° with the floor while leaning against one wall of a room. If the foot of
the ladder is kept fixed on the floor and it is made to lean against the opposite wall of the room, it makes an angle of
60° with the floor. Find the distance between these two walls of the room.

7. The horizontal distance between two poles is 15 m. The angle of depression of the top of first pole as seen from

the top of second pole is 30°. If the height of the second pole is 24 m, find the height of the first pole. (Use 3 =
1.732)

8. From a window (60 metres high above the ground) of a house in street the angles of elevation and depression of
the top and the foot of another house on opposite side of street are 60° and 45° respectively. Show that the height

of the opposite house is 60(1 + v3) metres.

9. The length of the shadow of a tower standing on level ground is found to be 2x metres longer when the sun's
altitude is 30° than when it was 45°. Prove that the height of tower is x(\/§ +1) metres.



10. Two boats approach a light house in mid-sea from opposite directions. The angles of elevations of the top of the
lighthouse from two boats are 30 and 45° respectively. If the distance between two boats is 100 m, find the height of

the lighthouse.
11. Find the area of a quadrant of a circle, whose circumference is 22 ¢cm.
12. The area of a circle is numerically equal to twice its portion circumference. Find the diameter of the circle.

13. In the given figure three sectors of a circle of radius measuring 7 cm, make angles of 60°, 80° and 40° at the

centre of circle as shown. Find the area of the shaded region. [use = 2—72]

14. In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre. Find

(i) area of the sector formed bv the arc.

(ii) area of the segment formed by the corresponding chord.

15. The minute hand of a clock is 10 cm long. Find the area of the face of the clock described by the minute hand

between 8 a.m. and 8.25 a.m.

16. A round table cover has six equal designs as shown in the figure. If the radius of the cover is 28 cm, find
the cost of making the designs at the rate of RS 0.35/cm?.

17. A juice seller was serving his customers using glasses as shown in the figure. The inner diameter of the
cylindrical glass was 5 cm, but the bottom of the glass had a semispherical raised portion which reduced
the capacity of the glass. If the height of a glass was 10 cm, find the apparent capacity of the glass and its
actual capacity.(Use m = 3.14)




18. Avessel is in the form of an inverted cone. Its height is 8 cm and radius of its top, which is open, is 5
cm.It is filled with water upto the brim.When lead shots , each of which is a sphere of radius 0.5 cm are
dropped into the vessel, one-fourth of the water flows out.Find the number of lead shots dropped in the
vessel.

19. A hemispherical depression is cut out from one face of a cubical wooden block such that the diameter | of the
hemisphere is equal to the edge of the cube. Determine the surface area of the remaining solid.

20. A spherical glass vessel has a cylindrical neck 8 cm long, 2 cm in diameter; the diameter of the spherical part is
8.5 cm. By measuring the amount of water it holds, a child finds its volume to be 345 cm® . Check whether she is
correct, taking the above as the inside measurements, and n =3.14.

X(SCIENCE)

1. A wire is Im long, 0.2mm in diameter and has resistance of 10€Q2. Calculate its
resistivity.

2. Calculate the area of cross section of a wire of length 2m, its resistance is 25Q and
the resistivity of material of wire is 1.84*10-6 Qm.

3. Calculate the energy consumed by 120W toaster in 20 minutes.
4. What is resistance of conductors? Name two metals which are highly resistant.
5. Why is tungsten metal used in bulbs but not in fuse wires?

6 Define the terms Watt and Volt.

CHEMISTR

Q .1 (a) Describe an activity to show that metals are good conductors of electricity.
(b) Account for the following :

(i) Hydrogen gas is not evolved when a metal reacts with nitric acid.

(ii) For storing sodium metal, it is kept immersed in kerosene.

(iii) The reaction of iron (I11) oxide with aluminium is used to join cracked iron parts
of machines.

2.(a) Name the following :

(i) Metal that can be cut by knife

(i) Lustrous non-metal

(iii) Metal that exists in liquid state at room temperature
(iv) Most malleable and ductile metal



(v) Metal that is best conductor of electricity
(vi) Non-metal that can exist in different forms

(b) How are alloys better than metals? Give composition of solder and amalgam.

3.2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the content are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

4.Sugandha prepares HCI gas in her school laboratory using certain chemicals. She puts
both dry and wet blue litmus papers in contact with the gas.

(i) Name the reagents used by Sugandha to prepare HCI gas.
(i) State the colour changes observed with the dry and wet blue litmus papers.
(ii1) Show the formation of ions when HCI gas combines with water.

5.During electrolysis of brine, a gas ‘G’ 1s liberated at anode. When this gas ‘G’ is
passed through slaked lime, a compound ‘C’ is formed, which is used for disinfecting
drinking water.

(1) Write formula of ‘G’ and ‘C’.
(i) State the chemical equations involved.
(i11) What is common name of compound ‘C’ ? Give its chemical name.

6.A gas ‘X’ reacts with lime water and forms a compound ‘Y’ which is used as a
bleaching agent in chemical industry. Identify ‘X’ and ‘Y’ Give the chemical equation
of the reactions involved.

7.Mention with reason the colour changes observe when:
(1) silver chloride is exposed to sunlight.
(i1) copper powder is strongly heated in the presence of oxygen.
(iii) a piece of zinc is dropped in copper sulphate solution.
8.Compound X and aluminium are used to join railway tracks.
(a) Identify the compound X.
(b ) Name the reaction.
(c) Write down its reaction.
9.The following reaction takes place when the aluminium powder is heated with MnQO2.

3 MnO2 (s) +4 Al (s) = 3 Mn (I) + 2 A1203 (1) + Heat
(@) Is aluminium getting reduced?
(b)) Is MnO2 getting oxidised?

10.A yellow powder X gives a pungent smell if left open in the air. It is prepared by the
Reaction of dry compound Y with chlorine gas. It is used for disinfecting drinking
water. Identify X and Y. Write the reaction involved.

11.0res mined from the earth are usually contaminated with large amounts of impurities
such as soil, sand, etc., called gangue. The impurities must be removed from the ore
prior to the extraction of the metal. The processes Several steps are involved in the
extraction of pure metal from ores.Metals and Non-metalsused for removing the gangue



from the ore are based on the differences between the physical or chemical properties of
the gangue and the ore. Different separation techniques are accordingly employed.

1) What are the process for the extraction of metals of low reactivity series?
i)  Give one example of extracting metals low in the activity series.

i)  What is meant by roasting.

Iv)  What is the another name for HgS an ore of mercury?

V) In which form does metals of low activity series occur in the earth crust?

Project — Explain the types of chemical reactions with diagram in A4 page in
channel file.

1.Plants like banana, rose, jasmine, orange have lost the capacity to produce
(a) seeds (b) buds
(c) flower (d) roots

2.The part of the flower which is present in the centre of the flower is
(a) Sepals  (b) Petals
(c) Carpels (d) Stamens

3.The seed that contains the future plant is called the
(a) cotyledons (b) seed coat
(c) germ cells (d) embryo

4.The period of pregnancy is called
(a) gestation period (b) incubation period
(c) ovulation (d) menstruation period

5.The process of release of eggs from the ovary is called
(a) menstruation (b) reproduction
(c) insemination  (d) ovulation.

6.The embryo in humans gets nutrition from the mother’s blood with the help of a
special tissue called

(a) Placenta (b) Villi

(c) Uterus (d) Womb

6.Which of the following method of contraception protects from acquiring sexually
trans—mitted diseases?

(a) Surgery (b) Condoms

(c) Copper-T (d) Oral-pills

7.Which among the following diseases is not sexually transmitted?
(a) Syphyllis (b) Hepatitis
(c) HIV-AIDS (d) Gonorrhea



Q8) In the below figure, parts A, B and C are, sequentially,

a) Cotyledon, plumule and radical b) Plumule, radicle and cotyledon
¢) Plumule, cotyledon and radical d) Radicle, cotyledon and plumule

9. Which of the following diseases is transmitted sexually?
a) Kala Azar b) Jaundice
¢) Cholera d) Syphilis

Q10. IUCD is for
a) Vegetative propagation b) Contraception
c) Increasing fertility d) Avoiding miscarriage

11.The process in which small portions of the oviducts of a woman are removed by
surgical operation, and the cut ends are ligated is

a) copper T b) tubectomy

C) vasectomy d) diaphragm

12.Write the full forms of IUCD, AIDS, HIV, and OC.
13.Mention the methods used for regulation of childbirth.

14.Name an organism which reproduces by spore formation. List three conditions
favourable for spores to germinate and grow.

15 l:‘ame the parts A, B and Cvsi\o;;n in the
lagram and write their functions. 131
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CASE BASE

When a girl is born, the ovaries already contain thousands of immature eggs. On
reaching puberty, some of these start maturing. One egg is produced every month by
one of the ovaries. The egg is carried from the ovary to the womb through a thin
oviduct or fallopian tube. The two oviducts unite into an elastic bag-like structure
known as the uterus. The uterus opens into the vagina through the cervix.

1) What is fertilization?
1)Where does fertilization occur?
1) What is placenta?



Iv) What are the different parts of female reproductive system?
v) What happens when egg is not fertilized?

Case base

There are many plants in which parts like the root, stem and leaves develop into new
plants under appropriate conditions. Unlike in most animals, plants can indeed use such
a mode for reproduction. This property of vegetative propagation is used in methods
such as layering or grafting to grow many plants like sugarcane, roses, or grapes for
agricultural purposes

1) What are the advantages of vegetative propagation?

I1) Give a example of vegetative propagation through buds?

1) What is tissue culture?

Iv) What is grafting?

v) What are the example of layering?

Explain Mendelism {Principles of inheritance} in a channel file.

X(SOCIAL SCIENCE)

1.What was the Greek War of independence?

2. What was the role of women in the Nationalist struggles?

3. Who were Marianne and Germania?

4. How was the History of Nationalism in Britain unlike the rest of Europe?

5. What is meant by the idea of Satyagraha?

6. Why growth of Nationalism in the colonies is linked to an anti colonial movement?

7.Explain the salt March to make clear why it was an effective symbol of resistance
against Colonialism.

8. What was the Biological warfare?

9. Why did some people in 18" century Europe think that print culture would bring
Enlightenment and end despotism?

10. Explan how print culture assisted the growth of Nationalism in India.

Project

In a scrap book make a chart of political symbols along with their meanings used
during the French Revolution.

POL. SCIENCE

1. Who among the following is the founder of Bahujan Samaj Party?
(i) Kanshi Ram



(i)  Sahu Maharaj
(i) B.R. Ambedkar
(iv) Jyotiba Phule

2. When was BJP founded?

(i) 1885
(i) 1984
(iii) 1980
(iv) 1964

3. What is the guiding philosophy of the Bhartiya Janta Party?
(i)  Bahujan Samaj
(i)  Revolutionary Democracy
(iii)  Integral humanism
(iv) Modernity
What is Bi-party system?
Which Coalition alliance was formed by BJP?
Give one merit and one demerit of a single-party system.
Name regional parties of Bihar with their symbols.
What is the difference between National and Regional party?
What is meant by a political party? Describe three components of a political
party.
10. “Political Parties are a necessary condition for a democracy.” Analyse the
statement with examples.

GEOGRAPH

Q.1. Which one of the following is an example of Cultivable Wasteland?
A. Gross cropped Area
B. Uncultivable Land
C. Barren Wasteland
D. Current fallow Land
Q.2. A type of millet rich in iron, calcium, other micro nutrients and roughage is:
A. Bajra
B. Rajma
C. Jowar
D. Ragi
Q.3.Being a tropical country, India has enormous possibilities of tapping solar energy.
Suggest any one way to popularize its maximum use.

©Co~N O BA

Q.4. A concerted effort has to be made for sustainable development. Suggest any one
step in conserving our mineral resources for the future.

Q.5. Energy saved is energy produced”. Support the statement with suitable examples.

Q. 6.“India has fairly rich and varied mineral resources across different regions”.
Support the statement with examples.

Q.7.Suggest and explain any three ways to protect land from degradation in various
states of India.

Q.8.Why is production and consumption of steel considered as an index of a country’s
development?



Q.9. Describe the distribution of coal in India.

Q.10. Discuss the steps to be taken to minimize environmental degradation by industry?

ECONOMICS

Question 1. What are Multi-National Corporations (MNCs)?

Question 2. Explain ‘what 1s investment? Give a few examples of investment.
Question 3. In which year did the government decide to remove barriers on foreign
trade and investment in India?

Question 4. Why is ‘tax’ on imports known as a trade barrier?

Question 5. Which organization lays stress on liberalization of foreign trade and foreign
investment?

Question 6. Give one characteristic feature of a ‘Special Economic Zone’?

Question 7. Name an important barrier on foreign trade.

Question 8. What is meant by “fair globalization’?

Question 9.What do you understand by the term ‘Foreign Direct Investment’?
Question 10. Why had the Indian Government put barriers to foreign trade and foreign
investment after independence? State any one reason.

X (1.7)
Tick (\/) the correct option: -

1. When it is difficult to communicate with someone who is not willing to talk or
express their feelings and views it means there is a/an
a. Culture Barrier b. Interpersonal Barrier c. Physical Barrier d. Language
Barrier

2. Krishna’s Computer was running very slow, hangs and often restarts. He is very
confused and tensed as he was working on a very important assignment.
Krishna’s friend gave him the following suggestions. Identify who has given him
a genuine suggestion.
a. Sushant: Restart your machine
b. Ishika: Install reliable antivirus software and update
c. Abhishek: Don’t use Pen drive
d. Abhijeet: Install free antivirus from net

3. Which of the following is/are a myth about Entrepreneurship?
a. Need a lot of Money b. Must have a great Idea
c. Should know everything about business d. All of these

4. Which one is not the tab of the insert/index Table window of Writer Document?
a. Entries b. Background c. Style d. Row

5. Sujata has made an advertisement in Digital Document. She is facing difficulty in
positioning the images within the text. Suggest her how she can adjust the image?
a. Wrap text b. Crop c. Alignment d. Layout

6. Subham and his partners have created a list of their company employees in one of
the spreadsheets in the office. Now the rest of the task they want to complete
from home. Which option they should use to access the same Spreadsheet from
home?




a. Consolidate Worksheet b. Link Worksheet
c. Merge Worksheet d. Lock Worksheet
7. ldentify the part of a Spreadsheet using which a user can manage multiple sheets.

a. Status Bar b. Sheet Tab c. FormulaBar  d. Worksheet Area
8. At the bottom of each worksheet, left tab indicates the of the
worksheet in a workbook.
a. Size b. 3 Type c. Name d. Color
9. It enables users to view, enter, and change data directly in database objects.
a. Report b. Query c. Form d. Database
10.There are types of Relationships in a table of a database.
a. One b.3 c.4 d. Many

Answer the following questions: -
11.What do you understand by Anchoring in Word Processor?
12.What do you mean by Sorting in a Spreadsheet?
13.State any four etiquettes to be followed while chatting on the internet.
14.How is Goal Seek different from Solver in a Spreadsheet?
15.Differentiate between a Primary key and Foreign key.
16.Explain different kinds of online threats.
17.Consider the following Vendor table and write the queries for the following:
Table: Datasheet

Sub_code Sub_Name DateofExam Days
EO001 English 11-03-2021 Monday
HO002 Hindi 15-03-2021 Friday
S003 Social Sci. 18-03-2021 Monday
S004 Science 21-03-2021 Thursday

I. Write a SQL command to display the records in ascending order by date of
exam.
ii. Write a query to display the above date sheet.
Iii. Write a query to display the subject name and date of the exam held on
‘Monday’.
iv. Write a SQL command to display the date of exam and Sub_Name of Science
subject.
18.What do you understand by the term Table of Contents? List the characteristics
of a good ‘Table of content’ in a word processor.
19.Explain any four characteristics of DBMS.
20.Answer the following questions on the basis of the given table.

Table: Shop
Pro_id Pro_name Cost Quantity
P0O001 Eraser % 15.50 2
P0002 Pencil %10.00 1
P0003 Copy % 45.00 4
P0004 Book % 55.00 6




PO005 Pen X 15.00

a) What is the name of the table?

b) What is the degree of the table?

c) What is the cardinality of the table?

d) Write the suitable datatype for each field.
e) Write the number of tuples in the table.

X




